23 7 4

*

. = 7/11
= 61005157 61008583 61012042
| |
= 61005551 61018485 .
| |
program-lang@ae.keio.ac.jp
123
* a=|4 5 6 a=[
! 7809 [1,2,3],
[4.5,6],
[ ] [7.8,9]
1|2 ]
4 | 5




33 a
a=[ a[olol |afolf1] |a[oifz]
| 1 2 ! [1,2,3],
[2.2.3K) [4.5.61, | |awio awm [am
| 4 5 —/—[4.5,
[7 8 9] [7,8,9]
L ] al2][0] |a[2][1] |a[2][2]
| 7 8 ] /
I
* *
[1,2,3]
H g g} C:¥Ruby=>ruby sample.rb —
] ! o=l a[0][0] |a[0][1] |a[0][2]
pa[0[0] A [1.2,31]] .

K T
pal0][1] . [4.5.61] ®|[ao o [amiz
pa[0][2] 5 [7.8.9] i, )
pal1][0] 6 ] al21[0] | af2][1] %@1[2\1
pa[1][1] 7
pa[1][2] 8 \
pa[2][0] S \—‘
pa[2][1]
pa[2][2] . 10
a=[

[ ’ 2 ’ 3] ’ a:[
[4,5,6], 1 2 3 0
[7.8.9] | || lao))| [rT.7.37,
] C:¥Ruby=>ruby sample.rb a.length‘ | 4 5 6 | ‘a[ 1 ]‘ [4,5,6]
[1,2, 3] (200 [7.8,9]
pal[0] [4, 5, 6] o) [7 T8 [ 9] \a[z]\]
pa[1] [7,8, 9]
pa[2] a[ 0 ].length
a[ 1 ].length
a[ 2 ].length

12




. 1 2 3 a=|
[1.2,37,
] 4 |5 6 m) | [4.5.6],
7 8 9 [7.8,91,
[10,11,12]
10 11 12 ]
15 14
] a = Array.new( 4 ) a[2][0]=7
a[2][1]=8
a[ 0] = Array.new( 3) a[2][2]=9
a[ 1] = Array.new( 3)
a[ 2] = Array.new( 3) a[3][0]=10
a = Array.new( 4) AL31= Arraynen(3) ot
a[3][2]=12
0][0]=1
I:> a[ 0] = Array.new( 3) :EO}%lLZ pa
a[ 1] = Array.new( 3) a[0][2]=3
a[ 2] = Array.new( 3) a[1]fo]=4
a[ 3] = Array.new( 3) al1l11=5
a[1][2]=6

C:¥Ruby>ruby sample.rb

[[1, 2, 3], [4, 5, 6], [7, 8, 9], [10, 11, 12]]

16

a=1l

a[o]=1]
a[O][O];l\‘
a[0][1]=2
a[0][2]=3
a[l]=[—]
a[1][0]=4
a[1][1]1=5
a[1][2]=¢6

a[3][0]=

0J.a[1].a[2]
[3]

QO
©

a[3]1=[0—_|,

a[3][2] =12

pa

C:¥Ruby=>ruby sample.rb

[[1, 2, 3], [4, 5, 6], [7, 8, 9], [10, 11, 12]]




i=0
3.times{ [j|

print(i,"+",j,"=",i+j,"¥n")
}
4.times{ [i| i=1
3.times{ |j| 3.times{ |j|
print(i, "+ "], " print(i, " +",j,"=",i+j,"¥n")
} C:¥Ruby>ruby sample.rb
} 0+0=0 i=2
3.times{ [j|
print(i, " +",j,"=",i+j,"¥n")
i=3
3.times{ |j|
print(i,"+",j,"=",i+j,"¥n")
}
}
a= alol[ol |afo][1] |afolf2] a=l ey ple
[1,2,3], Hég} a[0][1]=2
[4,5,6], 297’ i=0 j al01[2]1=3
(7.8 9], o) a[1][0] |a[1][1] |a[1][2] EIO ?ilg,]lé] a[1][0]=4
[10,11,12] ] : NESED N
] al21[0] (al2][1] |a[2](2] Y i
4.times{ [i| a[2][1] :8
3.times{ |j| A2 271=0
a[3][0] |a[3][1] |a[3][2] print("a[ ", i, """ A[3010] =15
a['][”’"¥”")i:2 =0 a[3][1]=11
) al31[21=12
i
21
3.times{ |j|
print("a[OI[",j,"1=", a[O][j], "™¥n") !
}
3.times{ |j| C:¥Ruby=>ruby sample.rb
print("a[11[".j."1=", a[1]I[j],"™¥n") a:El 2,3] a{g}{g}:i
2,31, al =
} [4.5.6], al2]io]=7
3.times{ |j| Ho 81’19 ]le] al 3101 =10
A . . » L a[0][1]=2
print("a[2][",j."1=", a[2][j]."™¥n") 1 a[1][1]1=5
i=1 j=0 3 =
} 3.times{ [i| J 2{ ; }E H — ;31
3.times{ |j| 4"","95{,, lil T, a[0][2]=3
print(* a[ 31[*,j,"1=", a[3][j]."¥n") AT Y R 2=
- - il al21021]
} , a[3][2] =12




4.times{ [j|

print(*a[",j,"1[ 01=",a[j][ O], ™¥n") ;I
}
a=[

[1,2,3], C:¥Ruby>ruby sample.rb
- - [4,5,6], a[0][0]=1
4.t|me§{ lil _ _ [7,8,91, a[0][1]=2
print("a[",j,"I[ 11=",a[jl[1], "¥n") [10,11,12]

’ D fakengn 4]

a.length.times{ [i|
ali ]‘Iength.times{ lil

4.times{ |j| print("a[ " i, "I[" .}, "1=
print("a[",j,"1[ 21=",a[jI[2],"¥n") ) aLii1, )
} } \
‘a[ 0 ].length, é[ 1 ].length, a[ 2 ].length, a[ 3 ].length 3
25 6
ii '
C:¥Ruby>ruby sample.rb
ea[Ch = e a[31[2] =12
a= 3][1]=11
[1,2,3], C:¥Ruby>ruby sample.rb [4.5,6], :{ 3 }E 0 } =10
[4,5,6], a[0][0]=1 [7,8,9], =
[7.8,9], a[ol[1]=2 [10,11,12] a[2][2]=9
[10,11,12] a[0][2]=3 1 a[2][1]1=8
1 :EHE?%;; (a.length-1).step(0,-1){ |i] ZE?}%?} ;g
(0..a.length-1).each{ [i| a[1][2]=6 (a[i].length- 1) step(0, 1){ o a[1][1]=5
(. a[l]length 1).each{ Jj| a[2][0]=7 print("af",i,"1[",j,"1=", ~
print("a[ ", i, " 1", . 1=", [ alil[j], ) a[1][0]=4
alilli], ¥n> a[2][2]=9 } a[0][2]=3
a[3][0] =10 } a[0][1]=2
} a[3][1]=11 a[0][0]=1
a[3][2]=12
i step
0.step(10,2){ |x| 10.step(0,-2){ || [
: nyan - T a= C:¥Ruby>ruby sample.rb
print( x , "¥n") print( x , "¥n") [1.2.3], L. 2, 3]
} } [4,5.6], [4, 5, 6]
[7.8,9], [7, 8 9]
C:¥ruby>ruby sample.rb (12(:)¥ruby>ruby sample.rb ] [10,11,12] [10, 11, 12]
a.each{ |i| -
. i
|
}p 0] a[1]. (2] . al3]
30




*

[1,2,3],
[4,5,6],
[7.8,9],
[10,11,12]
]

a[ 0 ].each{ [j|
print(j , "¥n"

-

}
a[ I T.each{ j
print(j , "¥n"

-

}
a[ 2 ].each{ [j
print(j , "¥n"

-

}
a[ 3 ].each{ [j|
print(j , "¥n"

-

C:¥Ruby=>ruby sample.rb
1

a=
[1,2,3],
[4,5,6],
[7.8,917,
[10,11,12]
1

a.each{ |i|
pi

i.each{ |j|

print(j , "¥n")

]

C:¥Ruby>ruby sample.rb
[1, 2, 3]

1

:
3

[4, 5, 6]

4

:
6

[7, 8, 9]

7

;
9

[10, 11, 12]
1

0
1
P [3]

a=[
a=l [1,2,3],
[1,2,3], [4,5,6],
[4,5,6], [7.8,91],
[7,8,91, [10,11,12]
[10,11,12] 1
! a[0 ]_.eat_:h{ lil
a.each{ [i] 1, print(j , "¥n")
pi__ — a1 ].each{ |
i.each{ [j| L | print(j,"¥n")
print(j, "¥n") 1
¥ a[ 2 ].each{ |j|
} ™~ print(j, "¥n")
3
N CR T
print(j, "¥n")
1

C:¥Ruby>ruby sample.rb

a=[
[1,2,3],
[4,5,6],
[7.,8,9],
[10,11,12]
1

a.each{ |i|

pi
i.length.times{ |j|

1

print(i[j], "¥n"

[1,2,3]
1

2 | IR
3

[4, 5, 6]

4

i a[l]

0,1,2

a=[ a=[
[1,2,3], [1,2,3],
[4,5,6], [4,5,6],
[7,8,9], [7,8,9],
[10,11,12] [10,11,12]
! [i a[0],a[1],a[2),a[3]
a.each{ |i| a.each{ |i|
p i p i
i.each{ [j| i.length.times{ |j|
print(j, "¥n") print(i[j ], "¥n"
} }
j i 012

a.length.times{ |i|

a[ i ].length.times{ |j|
print("a[",i,"][".,j.,"]1=

"haliljl, ")
}

a[01[0]1=1
a[1][0]=2
al11[1]1=3
a[2][0] = 4

a[2][1]=5
a[21[2]1=6
a[3][0]=7
a[3][1]1=8
a[3][2]=9
a[3][3] =10




a.each{ |i|
p i
p i.length

C:¥Ruby>ruby sample.rb

i
23

B
57, 8, 9, 10]

[ a0),anl, af2], a3l

a=[
[11
[2.3], ;
[4,5, 6], 3
[7,8,9 10] 2
1 5
a.each{ |i| g
i.length.times{ |j| 8
print(i[j],"¥n") |
) 1

A

a[0], a[1], a[2], a[3]

*

a=[ C:¥Ruby>ruby sample.rb a=[l \ 3
[ ;‘ ]’3 1 a[ 0] = Array.new(3) —
[2,3] 2 a[ 1] = Array.new( 3) >
[4,5, 6], 3 a[ 2] = Array.new( 3)
[7,8,9,10] 4
2 count =1
] 2 3.times{ |i|
. 3.times{ |j|
a.each{ |i| 7 alilfil=
A i [i1[j] = count
i.each{ |j| 8 - count +=1 |:|
rint(j , "¥n" al 3
print( j ) 515 [3] 3 } C:¥Ruby>ruby sample.rb
} [[1, 2, 3], [4, 5, 6], [7, 8, 9]]
Ui al0), af1], af2], af3] pa
J afi] 39 40
1 n
a=[] a=[] a=[]
3.times{ |i| t=1 -
a[ i] = Array.new( 3) ;(_)tl::]es{ il COL-mt l-
} > 3.times{ |i|
a[i]= Array.new(3) i1 = /"I:|
3.times{ [j| a[i]l=[-
count = 1 a[i][j] = count 3.times{ |jl
3.times{ |i| count += 1 a[i][j] = count
3.times{ |j| } count +=1
a[i][j]= count } 3
}Count +=1 . } C:¥Ruby>ruby sample.rb
} : [[1. 2, 3], [4, 5, 6], [7, 8, 9]I
pa
pa n 42




i a=[] for
a=[]
(0..2).each{ |i|
a[il=1 foriin (0..2) do
0.2 el A0 alil=l
a[i][j]=rand(10) forjin (0.2)do .~
} a[i][j]=rand(10)
¥ C:¥Ruby>ruby sample.rb en;nd
[[2, 7, 5], [7, 2, 9], [2, 7, 4]] C:¥Ruby=>ruby sample.rb
pa [[3, 6, 3], [2, 8, 71, [4, 1, 41]
pa
for
a=[1,2,3]
for x in 1..10 do
C:¥ruby>ruby sample.rb b=[]
puts( 2**x ) 3.times{ |i|
blil=10
end 3.times{ |j]
blillil=alijl
x=1,2, ,9,10 }
}
C:¥Ruby>ruby sample.rb
pb [[L, 2, 31, [1, 2, 3], [1, 2, 311
a=[1,2,3] a=[1,2,3]
b=[] b=[]
3.times{ |i| 3.times{ |i|
b[i1=0 b[i]=[ AbL1bI1Lb[2] a ? |
3.times{ |j| b[i]=a
blil[j]l=alil pb C:¥Ruby>ruby sample.rb
¥ [, 2, 3]]
} [I1. 2, 3], [1, 2, 3]]
C:¥Ruby>ruby sample.rb pb [[L. 2, 3], [1, 2, 3], [, 2, 3]]
pb [[L 1, 11, [2, 2, 2], [3, 3, 31] [[L, 2, 3], [1,2,3], [1, 2, 3]]




a=[1,2,3]
b=[]
3.t i

It;]Eeis]{llllj b[0].b[1],b[2] a 5

b[il=a
}

| 5
pb C:¥Ruby=>ruby sample.rb
[[1,2 3], [1,2,3],1[1 2 3]]

a[0]=100 2 28 e

49

a=[4,2,1,6,7]

C:¥ruby>ruby sample.rb

[4,2,1,6,7]

[4,2,1,6,7]

4 [10. 2, 1,6, 7]
4[10, 2, 1, 6, 7]

50

*

a=[4,2,1,6,7]
X=a

p a, X
a[0]=10

p a, X

a
N\ Jaf21]e]7
(O] | [A1 | [21 | [3] | [4]

a

(o [ 2 4

a=[]

3.times{ |i|
alil=10
3.times{ |j]

pa

a[i][]] = gets.chomp.to_i

I o

:¥Ruby>ruby sample.rb

C
]
4
5
[
7
1
2
3
4

[[3. 4, 5], [6,7,1], [2,3,4]]
|

52

b=
a.length.times{ |i
b[i]=1]

}
3

pb

a[ i ].length.times{ |j|
blilljl1=alilljl

C:¥Ruby>ruby sample.rb
[[1, 2, 3], [4,5, 6], [7, 8, 9],

[10, 11, 12]]

*

a

o 0N
o w

1,
1,
1,
0,11,12]

=[
[1,2,
[4.5,
[7.8,
[1

1

blil=a[i]

pb

b
i %
a.length.times{ |i
blil=0-""

b[il  ali] ? |

C:¥Ruby>ruby sample.rb
[[1, 2, 31, [4, 5, 6], [7, 8, 9],

[10, 11, 12]]




}

a=[
[1,2,3
[4,5,6
[7,8,9
[10,11,

1

b=

pb
a[0][0] = 10

b[i]=a[i]‘/{b[i] 2l ?

a b

C:¥Ruby>ruby sample.rb

[[1, 2, 3], [4, 5, 6], [7, 8, 9], [10, 11, 12]]
) g ([ 2. 3], [4, 5, 6], [7, 8, 9], [10, 11, 12]]

S

a
.31,
.61,
.91,
0,11,12]

=[
[1
[4
[7
[ 1
1
b=1]
3.times{ |i|

b[i]=10
a.length.times{ |j|

o f

b.length.times{ |i|
b[ i ].length.times{ |j|
print(b[i][§]."")
print( "¥n" )
}

[ ]

C:¥Ruby>ruby sample.rb
14710

25811

‘ 36912

56

57

4
. 1 70+60+83 /3=71
1 70 | 60 | 83
2 43 | 49 | 76
3 59 | 79 | 43
4 67 | 74 | 83

irb(main):008:0> p ='[[1,70,60,83],[2,43,49,76],

irb(main):009:1*

[3,59,79.43],[4,67,74,83]]

=>.[[1, 70, 60, 83], [2, 43, 49, .76], [3, 59, 79, 43], [4, 67, .74, .83]]1

58

S

p=1I
1 70 | 60 | 83 [1,70,60,83],
2 43 | 49 | 76 <:> [2,43,49,76],
3 59 | 79 | 43 [3.59,79,43],
4 67 74 83 [4,67,74,83]
1
plo1[0] |p[OI[1] |p[O]1[2] P[O][3]|
p[1]1[0] |p[11[1] |p[11[2] p[1][3]|
p[2][0] |pL2][1] |p[2][2] p[2][3]|
pL31[0]

pL3101] |p[3102] [pr3103]]

I
(pLill1]+p[il[2]+p[il[3])/3

S S

1

[1,70,60,83],

[243,49,76], | p[i][1]
[3,59,79,43], plil[2]
[4,67,74,83] plil[3]

(0..3).each{ |i|

sum =0
(1..3).each{ |j|

}

sum += p[i][j]

ave =sum/3
puts( " #{p[i][0]}

C:¥Ruby=>ruby sample.rb

#{ave}

}
{piro]

60




* * |

PLOT0] |[PLOILL] | PLOI[2] | PLOI3] TE aa—

1][0 1101 1][2 1][3 1 [1,70,60,83],

pr1ro] |[pradrad | pradr2g | pradrsif||pl1] Crosesa)

pr21007 |[pL21021 | pl212] | pr21(31]|[pL2]] [3,59,79,43],

p[31[0] |[P[3101] | p[312] | pr31(31] | p[31] | feresd] C¥Ruby=muby sampletd
[©0.3)each{ il 1PLOLP[1],p[2],p[3] (0.2).casnC il 2 o 133333333333
sum=0 ?im;)_ each( |jl 4 74.6666666666667
(1..3).each{ _|J|_ . - . sum += plilil

sum += p[il[i]«——{ pLi1[ 1 1+p[i1[ 2 1+p[i1[31] )

ave =sum /3
ave =sum/3 ) puts( " #{p[il[0]} #{ave} ")
puts( " #{p[i1[01} #{ave} ") }
61 62

- S * |

p=I
p=I[ [1,70,60,83], C:¥Ruby=>ruby sample.rb
Lon a0l ;
[3:59:79:43]: [3,59,79,43],
[4.6774.83] | [4,67,74,83]
]
(0..3).each |l (0..p.length-1).each{ [i]
sum =0 sum =0
(1.A3).eaih{ lil (1..p[i].|ength—:_L).each{ lil
sum += p[i][i] sum += pli][j]
ave =sum/3 .
" + " ave = sum / ( p[i].length-1)
}pUts( #{plil[o1} #{ave} ) puts( #{p[il[01} #{ave} ")
}
63 64

* | e

p=1I p=I
[1.70,60,83,65], . 1,70,60,83],
[2.43.49 76.70]. C:¥Ruby=>ruby sample.rb EZ 7989 76} -
1 149,49,10], C:¥Ruby=>ruby sample.rb
[3,59,79,43,28], > [35979.43]. i}
[4,67,74,83,81], [4.67.74.83]
[5,91,80,95,100] 3 ,67,74,83], 2
1 4 1 3
5 4
(0..p.length-1).each{ |i| p.each{ |a|
sum =0 sum =0
(1..p[i].length-1).each{ [j| (1..a.length-1).each{ |i|
sum += p[i][j] sum +=a[i]

ave = sum / (pli].length-1) ; ave = sum/ (a.length-1)
}PUtS( #{p[i][0]} #{ave} ) puts( " #{a[0]} #{ave} ")




p=1

[1,70,60,83],
p.each{ |a| a [2,43,49,76],
sum =0 E’Zg’iggg} [3,59,79,43],
(1..a.|ength—1).'each{ 1i] [3:59:79:43] : [4,67,74,83],
sum +=a[i] [4,67,74,83]
} p.each{ |a|
ave = sum / ( a.length- ing:—Oo
puts( " #{a[0]} alenath 2 a.each{ |i| C:¥Ruby>ruby sample.rb
#{ave} ") 1eng if count > O then
} a=[1,70,60,83] gt
sum=a[l1]+a[2]+a[3] count += 1
}
ave = sum / (a.length-1)
puts( " #{a[0]} #{ave} ")
67 } 68
1
a — _[1,70,60,83],
p.each{ |a| [1,70,60,83] [2,43,49,76], C:¥Ruby=>ruby sample.rb
sum = 0\ [2,43,49,76] [3,59,79,43], 1
count =0 [3,59,79,43] [4,67,74,83] 2
a.each{ |il [4.67.74.83] ] 3
if count then 4
. ave =[]
sum+=<! (0..p.length-1).each{ |i|
o i 0].a[1],a[2],a[3 sum = 0
count +=1 1 a[0],a[1],a[2],a[3] (1..p[i].length-1).each{ |j| v
} sum += p[[] ave
ave = sum/ (a.length-1) }
puts( " #{af0]} #{ave} ") ave[i] = sum / ( p[i].length-1)
}
(0..p.length-1).each{ [i|
‘ a[0] ‘ puts( " #{p[i1[0T} #lave[ll} ")
69 } 70
]




. a 3x3

a=[ =[
[1,0,0], [0,0,1],
[0,1,0], [0,1,0],
[0,0,1] [1,0,0]

C:¥Ruby>ruby sample.rb
[[1, 0, 0], [0, 1, O], [0, O, 1]] }[[O. O, 1], [O, 1, O], [1, O, O]]

C:¥Ruby>ruby sample.rb

¥

Ru
0
0
0
0
1
0
0
0
0

by
0
0
0
0
1
0
0
0
0

C:
0
0
0
0
1
0
0
0
0

OO0OO0OO0ORrOOOOo

0
0
0
]
1
0
0
0
0

0

OO0OO0OORrOO0OOoO

ruby sample.rb

OO0OO0OO0ORrOOOOo

74

a=[
[1.,2,3],
[4.5,6],
[7.8.91,
[10,11,12]
1

56

76

*

pLOI[0] ||p[OI[1] (|| PLOIL2T||[P[O][3]
pL1100] ||p[L1I02] (|| PLLIL2T|[P[2][3]
pL210] ||p[2101] ||| p[21021{|[P[21[3]
pL3100] ||p[3101] f[|P[31[2]|[p[31[3]

‘(D[O][l]+P[l][1]+p[2][l]+p[3][2])/4‘

‘(P[0][2]+p[1][2]+p[2][2]+P[3][2])/4‘

(pLOI[3]+p[1][3]+p[2][3]+p[31[3]) /4 -

keio.jp

78
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